—

2,

13 —
The value of Y (i" +i"*'), where i =/~ 1

n=1
equals
(a) i b)i-1
(¢, 0
If4sin-" x + cos ! x = m, then the value of x is
(a) O (b) 1/2
(@1 (d) -1

There are n different boeks and p copies of
each. The number /of ways in which a
selection can be made from them, is

(a) nP ®) p"

© (p+1)" -1 dm+1)f -1

The circle S; with centre C; (a;, by)and radius
r; touches externally the circle S, with centre
C, (ay, by) and radius r,,. If the tangent at their
common point passes through the origin,
then

(@) (af +ad) + (b + b =12 + 17

®) (af -~a) + (b - b)) =1 - 17

(© (af —=by)* +(af +b}) =12 + 13

@ (af ~B) + (af + B =%+ 13

If three vectorsa, b, ¢ are such thata # Oand
axb=2(@axc),|al=|c|=1|b|=4 and

the angle between b and ¢ is cos™ 1(%J Also

b - 2c = Aa, then find the vaiue of A

(a) +4 (b) 14

() &3 (d 12

A vector which makes equal angle with the
vectors 1/3(i-2j+2k),1/5(- 4i - 3k)
and jis

(a) 51+ j+5k
(c) 5i-j- 5k

(b) — 6i + j+ 5k
(d) 5i+j-5k

10.

1 19

12.

13.

14,

. Ifa-b=0anda + b makes an angle of 30°

with a, then
(@ |b|=2]a| (b) |la|=2|b]|
(© |a|=v3|b] (d) None of these

In Simpson’s one-third rule the curve
¥ = f (x)is assumed to be a

(a) circle (b) parabola

(c) hyperbola (d) None of these
Objective of LPP is

(a) a constraint

(b) a function to be optimized

(c) arelation between the variables

(d) None of the above

The variance of first ‘n’ natural number is
2 2
n“+1 n“-1
a) - b) -
. 12 (®) 12
(c) Mé—gﬂi}—} (d) None of thege

In Boolean algebra, which of the following
statement is correct

(@ (a+b)=c +b’

(Mb)(a+bY=a. b

(¢) (a+b) =(a" b)

(d) None of the above

The function x* decreases in the interval

(@) (0, e) (b) (0, 1)

(c) (0,1/¢) (d) None of these
The period of the function
f (x) = (sin 3x) +| cos 6x | is

@ (b) 2n/3 (c) 2n {d) m/2
The differential equation representing the
family of curves y % = 2¢ (x + Je ), wheregisa
positive perimeter, is of

(a) order 1, degree 3 (b) order 2, degree 2
(c) degree 3, order 3 (d) degree 4, order 4



15. If
J'\/1+sinx -f(x)dx=§(1+sin 240,
then f (x) is equal to )
(a) cosx (b) sin x
(c) tan x d1
16. jx ~X dxis equal to
+x
(a) (n—l)\fl—xz +-:lzsin‘1 x+C
gy e
(b) (—-— ) 1-x ~3 sin""x+C
(© y1- 39 G R - C
(d) None of the above
17. If x=secO-cos6 and y =sec"0 - cos"6,
2
then (Q.Z) is
dx
2 2
W Z D g O
x“+4 X
2
@ n =4 @ (ﬂ] -
e : x
18. The area formed by triangular shaped region
bounded by the curves y =sin x, y = cos x
and x=0is
(a) (V2-1) squnit (b) 1 sq unit
() v2 sq units (d) (V2 + 1) sq units
19. Find the value ijn/Z___d-x_
0 1+tan®x
(@ o0 () 1
(© n/2 (d) n/4
20. The angle of intersection of the curve y = x?
and 6y =7 - x* at (1, 1) is
(@) n/4 ®) n/3
(c) n/2 (d) None of these
21. ¥I,, ,= j; x™ (log x)" dx, then it is equal to
n -m
(a) - lIm,n—l | 1 mn-1

(©) m+lrmn-] 1 m,n-—l

22

23.

24,

25.

27.

28.

29.

d . 1fl+x
« — C0sec .
dx

2

]is equal to
x
-2
N 1+x%
2
(1+x%)’
20-xH
A+2)1=|
(d) None of the above

,x#0

x#0

x#+10

If Iim0 o (x)=a> a#0, then lirn0 ¢ (x/a) is
X =9 X =)

equal to

(a) @ ®) 1/4°

© 1/a? (d) a®

If 1+tanB)(1+tan¢)=2 then (8+ ¢) is
equal to

(a) 30° (b) 45°

(c) 60° (d) 75°

If in a AABC, cos A +cosB+cosC =3/2,
then triangle is

(a) right angled (b) isosceles

(c) acute (d) equilateral

Ifthe line x — 1 = Ois the directrix of parabola
y2 —k x + 8 = 0, then one of the value of k is
(@ 1/8 (b) 8

(c) 4 (d) 1/4

The centre of the sphere through the points
(0,3,4),(0,5.0), (4, 0,3) and (- 3, 4, 0) is
(a) (1/4, 3,7/4) (b) (0,0, 0)

(c) (-4,3,0) (d) None of these
Solve (y log x - 1) y dx = x dy

(@) y (logex+cx)=1

(b) y = (log ex + cx)

(©) y (logex—(x))=~-1

(d) None of the above

If £ ()= [" |t]dt, x2 -1, then

(a) fand f’are continuous for x +1> 0

(b) f is continuous but f” is not continuous
forx+1>0 .

(c) f and f’ are not continuous at x = 0
(d) f is continuous at x = 0 but f” is not so



30.

31.

32.

33,

34.

3s5.

36.

AB, AC are tangents to a parabola y > = 4ax, if
h, 1,, I are the lengths of perpendiculars from
A, B, C on any tangents to the paraboia, then
(a) L, L, 1, are in GP

(b) L, L, L, are in GP

() I, 4, 1, are in GP

(d) I b, I are in GP

A family of lines is given by
(1F20)x+(1-A)y+A =0, A being the
parameter. The line belonging to this family
at the maximum distance from the point (1,4)
is

(a) dx -y + -~
() 12x+ 33y =7 {d) None of these

If the eccentricity’ of .the hyperbola
x* - y* sec? o = 5is /3 times the eccentricity
of the ellipse x* sec® o+ y* = 25,ithen the
value of o is

(@) n/6 (b) n/4

(¢) n/3 (d) n/2

Lines of regressions of y on x and x on y are
respectively y =ax+b and x=oy +p. If
mean of x and y series is same, then its value
is

(a)

(b) 33x+12y +7=0

b
l1-a

1-a
®) =~

p O
1-8 (d)l—oc

A solution of the differential equation
[d_y_] —xdy+y=0is
dx

()

Ldx) T
(a) y=2 (b) y =2x
(© y=2x-4 @ y=2x*-4

The relation between the time t and distance
%’ is given by t = px? + qx, where p and q are
constants. The relation between velocity v
and acceleration f is

@ fov () foev?

(© focv? (d) fe v3_

The product of x'/2 . x/* . x'/8,...  equals
(2) 0 (b) 1

(@ x (d) oo

37.

38.

39.

40.

41.

42.

43.

If  the equation  x2+ix+a=0,
x? - 2x+ia=0, a# 0 have a common root,
then

(a) aisreal

(b)) a=1/2+1

(c)a=1/2-i

(d) the other root is also common

The distance between the lines y =2x+ 4
and 3y = 6x — 5is equal to

@ 1 (b) 3/+5
(0 1795 G =
15 . J3
2 2
The equation ST represents
12-k 8-k

(a) ahyperbola, ifk< 8

(b) an ellipse, if k> 8

(c) ahyperbola, if 8< k<12
(d) None of the above

The series
1 1 1

+ + PR
(n+1) 2(r+1* 3m+1)°

. has the same sum as the series

S S
m. 2n* 3n° 4n*

(_b)1+ 1 + ! + . P

DERE. 37 4n*
S 1 ]
© R
(d) None of the above
The sum of the infinite series

2.4 . 1% B8

g gl

—+ —+— 4+ —+ . N

31 51 71 91

(a) e ® e’ (J2e (de

If the roots of the equation

a(b-c)x*+b(c-a)x+c(a-b)=0 are
equal, then a, b, ¢ are in

(a) AP (b) GP

(c) HP (d) None of these
The probability that a person will hit a target
in shooting practice is 0.3. If he shoots 10
times, then the probability of his shooting the

target is
(a) 1 B 1-07°
R (d) (0.3)*°



+4. Llet A and B be two events such that p a |
P(A)=03and P(AuUB)=08 IfAand B  47. The term independent of x in [J-;+ J-z—xé— '

() 2/3 @ "¢, (b) 5/12
Ll (d) None of these (e) 1 (d) None of these
45. The number of distinct real roots of L B,
i ‘ . 2 2 2.3 2 2
SIn X ¢ 48. + =+ +... upto n
cosx sinx e =0 in the interval 1 19+2 %4 2043 ;
COSX COSX terms
-1 ©l. ‘n-1 n  Hed d (n+1)
xe[T’:{]ls = 2 ®) iy n+2() n

49. The solution of the equation

© 1 cos® 0 + sin © + 1 = 0, lies in the interval
a 00 (a) ('_“,EJ ) [E,ﬂ) :
46. If A=/0 a 0], &4 4 4
sk ()(3—"-5—“] (d)(i’ﬁz-’i]
| Aljadj(A)]is # %" &
(a) a° ) a® , log 2, log,, 2are in ,
(C aQ (d) a2? (b) GP
‘ ‘ (d) None of these
Answer — Key
1. b 2 b 3. C 4. b 5. a 6. C
11. b 12. = 13. b 14, a 15. a 16. b
21. ¢ 22. © 23. d 24. b 25. d 26. ¢
31. ¢ 32. b 33. a 34. ¢ 35. ¢ 36. c
41. b 42, ¢ 43. b 44, a 45. ¢ 46. ¢




